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g % MG E EEY E b 6801B(K)~3H10B(L) | 6ATIE(E)~6B20A(K) 68218 (k)~6H308 (%)

¥ | = %P 28502 (ke) HH A E (ke) HH T A8 (kg)
1 O BECY6 B4 2,000 1,000
2 T AINS(ERHb) B&- &L -BER 3,000 3,000 2,000
3 - EZpSY i 5,000 5,000 5,000
4 cek Wz 1,000 4,000 100,000
5 BRI (L2 £ 18 1,000 3,000 6,000
6 Sl g S L2 500 1,000 3,000
7 V= ANC 5 200 300 1,000
8 HY (W2 b 1,000 2,000
9 g9 Wi bz 500 1,000
10 E—<y 28 b iz 300 500
11 [Zh W - AU 1,000 1,000 1,000
12| © PEHLOVLE Wz 500 500 500
13 F5SNAE ML 3,000 2,000 1,000
14 IKE ML 100 100 100
15 INAZE IS 100 100 100|
16 INRE L4 100 100 100
17 e BRI 0 150 300
18 N EAN 0 0 1000
19 HEOH EA 0 300 500
20 Joyal)— il 1,500 1,000 500
21 58520 == 0 0 300
22 AT L2 200 400 800
23 7 KEH-BIER 0 0 2,000
24 INEPGI KEH-EER 0 0 1,000
25 INGZANWBI (BEDHIL) 1A 500 150 0
26 {ERRER (RIE NV R) IS iEC 1,000 0 0
27 EBESR(RRIT AN X) Sl 2,000 20,000 30,000
28 Wz b 0 500 1,500
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